The Economic Way of Thinking, 13e (Heyne)

Chapter 1   The Economic Way of Thinking

1) Fill in the blank: Economics is the study of ________ and its ________.

A) greed; desirable consequences

B) choice; unintended consequences

C) money; financial consequences

D) competition; legal consequences

Answer:  B

2) Economics studies the consequences of

A) choices made by individuals.

B) choices made by businesses.

C) choices made by governments.

D) choices made by society.

E) choices made by the entire planet earth.

Answer:  A

3) Economics is the study of

A) Why people are greedy.

B) Why the government is ruining our lives.

C) Why the Dow Jones Industrial Average moves around.

D) The choices people make when confronted with scarcity.

Answer:  D

4) Economists study

A) the choices people make, but not the consequences of their choices.

B) the consequences of peoples' choices, but not the choices themselves.

C) the choices people make in a world where resources are scarce.

D) theories and ignore all the facts.

E) data rather than people.

Answer:  C

5) In the economic way of thinking, "scarcity" is another way of saying

A) "regret."

B) "responsibility."

C) "unsustainable."

D) "sacrifice."

E) "waste."

Answer:  D

6) The existence of scarcity in economics comes from

A) resources being limited in supply.

B) people being stupid.

C) governments being corrupt.

D) the rich controlling most resources.

Answer:  A

7) According to economic theory, social interactions are the result of

A) calculated choices by individuals

B) chance and the laws of probability.

C) genetic and environmental factors.

D) random occurrences.

Answer:  A

8) According to your text, economic theory developed to answer which question?

A)  Why does man have the will to power?

B) Can we create a government strong enough to tie its own hands?

C) How are countless individuals led to do "the right thing" without ever caring about doing good?

D) Is greed good?

Answer:  C

9) Economic theory assumes people want

A) material goods primarily.

B) money in preference to all other goods.

C) more of everything.

D) to advance the projects in which they are interested.

E) what serves selfish rather than altruistic goals.

Answer:  D

10) Since most people prefer more money to less, the desire for more money

A) makes it difficult to induce people to cooperate.

B) makes it difficult to induce people to sacrifice for the larger public good.

C) makes social order highly unstable and unpredictable.

D) can induce useful changes in behavior.

E) implies people are living in a capitalist society.

Answer:  D

11) The behavior of people in government

A) can be explained or understood by applying the same principles we use to predict the behavior of people in business.

B) is different from the behavior of people in business because the former aims at the general welfare rather than private welfare.

C) is essentially different from market behavior.

D) is not compatible with the existence of a market system.

E) serves to balance private-sector behavior.

Answer:  A

12) Which statement best summarizes the perspective from which economic theory explains social occurrences? Economic theory assumes

A) gains and losses will eventually cancel out.

B) individuals make choices consistent with their goals.

C) the law of averages holds in the long run.

D) the value of anything is equal to its price.

E) whatever people want is what they ought to be able to buy.

Answer:  B

13) Economists assume people's choices

A) are inherently random.

B) are the result of greed.

C) cannot be predicted.

D) conflict with the actions or interests of everyone else.

E) create options for other people.

Answer:  E

14) The theories of economics, with surprisingly few exceptions, are extensions of which of the following assumptions about people?

A) People will do whatever earns them the most money.

B) People will do whatever helps them to be "one up" on others.

C) People will do whatever makes them popular.

D) People will do whatever most effectively promotes the common good.

E) People will do whatever yields them the largest net benefit.

Answer:  E

15) A core principle of the economic way of thinking assumes social phenomena

A) are less important than economic phenomena.

B) are more important by far than economic phenomena.

C) cannot be influenced by ethical considerations.

D) emerge from individuals' choices.

Answer:  D

16) To economize means to

A) allocate available resources in a way that yields the most value to the economizer.

B) behave in a selfish rather than generous manner.

C) conserve as much as possible for future use.

D) put economic theory to work.

E) save rather than spend.

Answer:  A

17) The central problem all individuals face is

A) greed.

B) insufficient money income.

C) scarcity of resources.

D) the desire for present enjoyment.

E) unequal wealth.

Answer:  C

18) Approximately what percentage of the world population experiences scarcity?

A) 33%

B) 50%

C) 66%

D) 100%

Answer:  D

19) When economists study the interactions of different people, the focus of their studies is on

A) inequality of wealth.

B) many different individual plans that must be coordinated.

C) not enough jobs for everyone who wants one.

D) people's excessive attachment to their own interests.

E) too many dollars chasing too few goods.

Answer:  B

20) The usefulness of money in commercial societies comes from the fact that

A) money is backed by gold.

B) most people will change their behavior at least a little in response to money incentives.

C) most people will do anything at all for money.

D) most people would rather spend money than save it.

E) the quantity of money can easily be expanded or contracted.

Answer:  B

21) The economic way of thinking

A) studies facts without using theories.

B) explains how social order and cooperation emerge from the actions of individuals.

C) is free of biases and assumptions.

D) includes all of the above features.

Answer:  B

22) To face scarcity means individuals

A) choose.

B) economize.

C) sacrifice some plans over others.

D) all of the above.

Answer:  D

23) Competition would probably be abolished if society could find a way to abolish

A) inequality.

B) scarcity.

C) money.

D) economists.

Answer:  B

24) Scarcity can be eliminated by

A) abolishing competition.

B) abolishing capitalism.

C) abolishing money.

D) all of the above.

E) none of the above.

Answer:  E

25) Which of the following economic systems requires some form of competition to better coordinate the plans and projects of households and enterprises?

A) capitalism.

B) socialism.

C) fascism.

D) totalitarianism

E) all of the above.

Answer:  E

26) In most economies, resources are allocated by

A) a central planning board.

B) a dictator.

C) the combined and decentralized actions of millions of people.

D) the majority's will.

Answer:  C

27) According to your text, the "market economy" can best be understood as

A) an institution created by British merchants around the time of Smith's Wealth of Nations.

B) an extremely complex institution that emerged out of individuals specializing and trading among each other.

C) an institution unique to America.

D) an institution that could not exist in the absence of regulation.

Answer:  B

28) According to the economic way of thinking, scarcity implies

A) money.

B) competition.

C) capitalism.

D) chaos.

E) all of the above.

Answer:  B

29) When the United States cannot produce all of the goods and services desired by its citizens, the economy is

A) in a deep freeze.

B) inefficient.

C) in a shortage state.

D) facing scarcity.

Answer:  D

30) The economic way of thinking suggests competition and cooperation are

A) incompatible.

B) mutually destructive.

C) present in any society.

D) only present in a capitalist market economy.

Answer:  C

31) Which of the following statements is true?

A) Capitalism has a tendency to eliminate scarcity.

B) Competition could be eliminated if money were abolished.

C) Competition is desirable and cooperation is undesirable.

D) Greed must be present for a market transaction to be effective.

E) None of the above.

Answer:  E

32) Rich people who have more money than they know how to spend

A) no longer act under scarcity.

B) no longer need to economize.

C) no longer have to choose to advance one project over another.

D) will still face a scarcity of their time.

Answer:  D

33) Which one of the following twentieth-century nations eliminated the problem of scarcity?

A) Socialist Cuba

B) Socialist China

C) Fascist Italy

D) The United States of America

E) None of the above.

Answer:  E

34) Which of the following people came close to abolishing scarcity in their regions some years ago?

A) Major Kwame Kilpatrick in Detroit

B) President Bill Clinton in the U.S

C) Governor Sarah Palin in Alaska

D) All of the above.

E) None of the above.

Answer:  E

35) Rich and poor people have which of the following in common?

A) Scarcity

B) Economizing behavior

C) Pursuing the plans and projects in which they are interested

D) All of the above.

E) None of the above.

Answer:  D

36) All individuals, even Bill Gates, must select among alternative goods because of

A) pollution.

B) global warming.

C) scarcity.

D) poverty.

Answer:  C

37) Which among the following is an example of "economizing" behavior?

A) A ski resort owner who is deciding whether or not to remain in operation during a season with abnormally low snowfall

B) The board of directors of a major bank who are considering opening new branches in a neighboring state

C) The planning committee of a conservative church parish, which is considering the reintroduction of the Post-Tridentine, Latin-language mass

D) A family comparing the costs of a vacation in the mountains to the cost of a vacation at the beach

E) All of the above.

Answer:  E

38) Which among the following is an example of "economizing" behavior?

A) A giant retail store franchise lowers its prices to attract more customers

B) A monopolist raises its price in an attempt to increase its profits

C) The country lawyer who agrees to receive his payment from a down-and-out client in the form of cut, split, and delivered firewood instead of money

D) All of the above.

Answer:  D

39) Who still has to economize?

A) The senior citizen who receives a 10% discount at the local coffee shop

B) The day-after-Christmas shopper who enjoys sales of up to 70% on holiday merchandise

C) Bill Gates

D) All of the above.

E) None of the above.

Answer:  D

40) In 2009 Al Gore won the Nobel Peace Prize and was awarded $1.4 million. He donated it to his Alliance for Climate Protection. From the economic point of view his charitable project suggests

A) Gore himself no longer faced scarcity because he was in a position to give so much of his money away.

B) the Alliance at least temporarily overcame scarcity because they enjoyed free resources.

C) it was chosen over other uses of his money, and therefore even Gore had to economize.

D) it was a ploy to gain more media attention after his Vice Presidency.

Answer:  C

41) The economic way of thinking assumes

A) people act selfishly.

B) people act altruistically.

C) people act to promote the projects in which they are interested.

D) people do not act at all; they merely react to the environment around them.

Answer:  C

42) Economists generally assume

A) individuals act strictly in the public interest.

B) individuals are never concerned with the interests of other people.

C) individuals rarely promote the projects in which they are interested.

D) none of the above.

Answer:  D

43) According to your text, the economic way of thinking focuses on

A) actions, interactions, and consequences.

B) intentions, motivations, and results.

C) hypothesis generation, determination of control group, and testing of hypothesis.

D) id, ego, and superego.

Answer:  A

44) Which statement below is the best summary of the economic point of view?

A) Society is created and designed by the government.

B) Society is controlled by major business conglomerates.

C) Society is an unintended outcome of individuals pursuing their own projects.

D) All of the above.

E) None of the above.

Answer:  C

45) The economic way of thinking assumes people, including Mother Teresa, Jack the Ripper, Henry VIII, and Hilary Rodham Clinton, act on the basis of

A) greed.

B) altruism.

C) terror.

D) the projects they are interested in.

Answer:  D

46) When Mother Teresa used her $190,000 Nobel Peace Prize to construct a leprosarium, she was

A) behaving irrationally.

B) behaving selfishly.

C) not behaving in a truly voluntary way.

D) pursuing her self interest.

E) violating the fundamental laws of economics.

Answer:  D

47) The economic way of thinking assumes

A) women act differently than men.

B) Christians act differently than non-Christians.

C) athletes act differently than non-athletes.

D) all people act on the basis of the plans and projects they are interested in.

Answer:  D

48) Economic theory assumes people

A) rarely act generously.

B) consistently act selfishly.

C) make choices based on a comparison of cost and benefits.

D) are fundamentally complex. Therefore, no general theory can be deduced to make sense out of the decisions and choices people make.

Answer:  C

49) Barry Bonds and Jennifer Lopez have which of the following in common?

A) Neither of them faces the problem of scarcity.

B) Each of them acts solely in the public interest.

C) Each of them chooses to advance some projects over others.

D) None of the above.

Answer:  C

50) What did President George W. Bush and Mother Teresa have in common?

A) They each pursued projects in which they were interested.

B) They each demonstrated a burning desire to directly serve the poorest of the poor.

C) They each promoted a plan to build up the American nuclear defense system.

D) They were both well-known fans of the Dallas Cowboys.

Answer:  A

51) What would an economist assume about Osama Bin Laden and Barack Obama?

A) They pursue plans.

B) Their plans are consistent with the public interest.

C) They don't understand the economic way of thinking.

D) Their demands for all scarce goods are very inelastic.

Answer:  A

52) Economic theory assumes people's actions generally follow

A) from comparisons of expected costs and benefits.

B) no predictable pattern.

C) considerations of material self-interest.

D) the Golden Rule.

Answer:  A

53) In the economic way of thinking, individuals make "choices" only when they

A) follow their narrow, selfish interests.

B) enjoy perfect and complete information about the consequences of their actions.

C) act responsibly.

D) pursue one project while sacrificing another.

E) have mastered the lessons of economic theory.

Answer:  D

54) Only individuals choose, which means

A) only individuals exist.

B) collectives do not exist.

C) only individuals can assess the expected costs and benefits of an action.

D) all of the above.

Answer:  C

55) According to your text, which group or organization makes choices?

A) Al Qaeda

B) New York City

C) The Microsoft Corporation

D) The Iraqi Government

E) None of the above.

Answer:  E

56) Why would an economist say that the Ford Motor Company has never made a choice or a decision?

A) Economists often want to deny the facts.

B) Ford doesn't make choices—only the U.S. automobile industry does.

C) To remind non-economists that individuals within an organization, rather than the organization itself, make choices.

D) Economists are strange creatures who only wish impress others with outrageous or ridiculous claims.

Answer:  C

57) "Your college didn't choose to admit you as a student." Your textbook authors make such a statement in order to

A) offend you.

B) confuse you.

C) remind you that beggars can't be choosers.

D) emphasize that choices are made by particular individuals, even if they are in the name of organizations.

Answer:  D

58) Pick the decision maker from the list below.

A) The head of Al Qaeda

B) The Taliban

C) The Government of Afghanistan

D) The Middle East

E) All of the above are decision makers.

Answer:  A

59) Strictly speaking, which entity below makes decisions?

A) The House

B) The Senate

C) Congress

D) All of the above.

E) None of the above.

Answer:  E

60) A local newspaper headline states "Congress Votes Against President's Proposed Tax Increase." An economist would interpret the statement as

A) a sad event, because all economists favor tax cuts.

B) uninteresting, because all economists favor theories instead of reality.

C) a purely political issue not related to economics.

D) a shorthand way of saying, "More individuals in Congress voted against the tax cut compared to the number of individuals who voted in favor of the tax cut."

Answer:  D

61) Who was the author of the following prediction: in the absence of a system for enforcing order in society, life will be "solitary, poor, nasty, brutish, and short"?

A) Thomas Hobbes

B) John Maynard Keynes

C) Thomas Kuhn

D) Jean-Jacques Rousseau

E) Adam Smith

Answer:  A

62) A commercial society, as described by Adam Smith, develops when

A) maximizing income becomes the ultimate objective for most people.

B) more people are employed in service industries than in agriculture and manufacturing.

C) private interest replaces the public interest.

D) the division of labor extends itself throughout the society.

E) traditional values give way to commercial values.

Answer:  D

63) Adam Smith used the term commercial society to refer to a society in which

A) business interests control the political system.

B) everyone identifies value with price.

C) everyone lives by exchanging.

D) increased income is everyone's principal life goal.

E) people behave without regard for the interests of others.

Answer:  C

64) The author of An Inquiry Into the Nature and Causes of the Wealth of Nations was

A) Duncan Bradstreet.

B) Dow Jones.

C) John Maynard Keynes.

D) Karl Marx.

E) Adam Smith.

Answer:  E

65) According to your textbook, the benefits of civilization are heavily dependent on

A) accurate numerical estimates by government officials of available resources and of basic consumption requirements.

B) agreement among the members of society on the best means for achieving their goals.

C) agreement among the members of society on the goals to be pursued.

D) government planning for long-run economic growth.

E) the ability to induce other people to cooperate.

Answer:  E

66) Economic theory looks at social coordination as a process of

A) continuing mutual adjustments to the situations created by the actions of others.

B) continuous adjustment of extremes to conform to the average.

C) passing information up from below and instructions or commands down from above.

D) sacrificing personal interest to the public or general interest.

E) sacrificing the public interest to self-interest.

Answer:  A

67) Economic theory suggests

A) social order is maintained only when people act in the public interest.

B) as a rule, people cooperate more effectively when they're selfish compared to when they're generous.

C) a great deal of effective cooperation can occur in the presence of minimal generosity and also without a great deal of government guidance and control.

D) none of the above.

Answer:  C

68) Your textbook authors use the urban traffic example to show

A) why economics cannot explain non-financial processes.

B) how social cooperation emerges when people act under generally accepted rules.

C) how a smooth flow of traffic can only be achieved by detailed, central planning.

D) how a smooth flow of traffic can only be achieved if people drive in the public interest.

Answer:  B

69) The textbook presents the movement of rush-hour traffic as an example of social

A) chaos.

B) competition.

C) conflict.

D) confusion.

E) cooperation.

Answer:  E

70) Urban traffic moves as effectively as it does because

A) all drivers have the same attitudes regarding courtesy, safety, and speed.

B) drivers are usually concentrating intently on their own narrow goals.

C) insurance does not cover all the costs of an accident.

D) drivers take other drivers' specific goals and interests into account.

E) police are able to enforce the city's traffic plan.

Answer:  B

71) The textbook's example of urban traffic flows demonstrates the notion of single-minded pursuits of one's own best interest

A) creates traffic jams.

B) interferes with achievement of the public interest.

C) produces social cooperation under appropriate rules of the road.

D) will not work to any single person's advantage.

E) will work to some people's advantage but will harm the vast majority.

Answer:  C

72) Which of the following is the most essential prerequisite for successful conduct of the "game" of urban traffic?

A) An advance plan to coordinate the moves of participants

B) Drivers who care as much about other people's interests as their own

C) Extensive information on other drivers' destinations and objectives

D) General consensus on and following of traffic rules

Answer:  D

73) Economic theory is most useful in explaining the operation of social systems

A) aimed at making a living.

B) directed toward the satisfaction of material wants.

C) in the world of business and finance.

D) in which participants characteristically don't know one another personally.

E) in which people pursue selfish interests.

Answer:  D

74) The economic system of the United States

A) was designed by mercantilists and capitalists.

B) was designed by the framers of the U.S. constitution.

C) was designed to maximize individual freedom.

D) was designed to maximize output per capita.

E) was the result of human intentions but not anyone's design.

Answer:  E

75) Which is the true statement?

A) A society does not need an authoritative central plan to generate order and cooperation.

B) A society will fall into social chaos without an authoritative central plan.

C) An economic system can last only if guided by a central economic plan.

D) Both B and C are true.

Answer:  A

76) Cooperation among different people can occur

A) even if most people know nothing about one another.

B) only if at least 10% of the people know one another personally.

C) only if the majority of people know one another personally.

D) only if everybody knows one another personally.

Answer:  A

77) Which of the following is the most important pre-requisite to a well-functioning market economy?

A) Goods must be non-scarce.

B) Everyone must have an adequate income.

C) Participants must follow some clear, general rules.

D) People must have roughly similar tastes and preferences.

E) There must be approximate equality of incomes.

Answer:  C

78) In a typical college classroom without a seating chart, dozens of students nevertheless occupy classroom seats with a minimum of confusion and disorder. Economics explains the orderly process of seat selection by assuming students

A) engage in entirely random decisions, from which only divine intervention can generate order in the classroom.

B) follow a simple, perhaps even unwritten, rule, such as "seats belong to the person who first occupies them."

C) know all the consequences of their actions, and thus purposefully create an orderly classroom seating assignment even if the professor doesn't require one.

D) trick question: economics cannot deduce any sensible scientific claims about the behavior of college students.

Answer:  B

79) Which of the following is most important for the successful functioning of any economy?

A) Clearly understood and generally accepted rules.

B) Common and reasonably specific goals for people to pursue.

C) Greed.

D) Low taxes relative to income.

E) Sufficient purchasing power to buy all of an economy's goods and services.

Answer:  A

80) Property rights

A) are essentially arbitrary. Therefore, rearranging them will have few effects.

B) do not really exist except in a capitalist society.

C) are a major part of the "rules of the game", which govern economic activity.

D) prevent people from cooperating in the most effective way.

E) are different from human rights.

Answer:  C

81) In the economic way of thinking, private property rights provide people with

A) rules of the game.

B) dependable information.

C) incentives.

D) none of the above.

E) all of the above.

Answer:  E

82) Which of the following documents established "rules of the game"?

A) The Book of Exodus

B) The Scrabble Players Dictionary

C) The Bylaws of the AFL-CIO

D) The Constitution of South Africa

E) All of the above.

Answer:  E

83) National League pitchers partake in some batting practice (typically, bunting). Why don't American League pitchers practice batting?

A) Practice can't be expected to improve their terribly poor batting skills.

B) They have little incentive, given the designated hitter rule.

C) They don't believe the slogan "There is no 'I' in 'Team'."

D) They ignore the rules of the game.

Answer:  B

84) According to your textbook authors, economics is generally

A) an unbiased science.

B) a method rather than a body of settled conclusions.

C) founded on the observation of data.

D) a false and misleading discipline.

Answer:  B

85) The economic way of thinking should be thought of as

A) a hypothesis.

B) a parable.

C) a set of conclusions.

D) an approach.

E) a statistical procedure.

Answer:  D

86) According to your textbook, a scientist of any kind

A) works with some assumptions and biases.

B) never confront tradeoffs.

C) offer only the best evidence to support his or her theory.

D) be the best candidate for the Nobel Prize in Economics.

Answer:  A

87) According to your text, which group of scientists are completely free from biases?

A) Physicists

B) Biologists

C) Economists

D) All of the above.

E) None of the above.

Answer:  E

88) In order to discover anything about causal relationships in economics we must first have

A) all the relevant data.

B) quantified data or statistics.

C) scientific evidence.

D) some kind of theory of how things fit together.

E) the courage and civility to eliminate all biases and preconceptions from our thinking.

Answer:  D

89) The economic way of thinking is

A) a biased perspective at the present time, and we should eliminate bias from economics.

B) a biased perspective, but the existence of bias does not mean the discipline should be condemned.

C) biased only when it is used to argue for particular policies.

D) unbiased because economics is a science.

E) unbiased insofar as its conclusions are drawn exclusively from actual facts.

Answer:  B

90) According to your authors, economics

A) alone is not the only, or even the best, perspective to make sense out of the real world.

B) can predict real-world phenomena with roughly 85-90% accuracy.

C) generates conclusions every reasonable person should accept as true.

D) is a false doctrine because individuals have been shown to act non-selfishly.

Answer:  A

91) The economic way of thinking

A) explains all social phenomena adequately.

B) explains any social phenomena more adequately than any alternative perspective.

C) is a biased perspective.

D) is as old as human society itself.

E) was invented at the end of the 19th century.

Answer:  C

92) Any scientific theory

A) emphasizes some factors while slighting others.

B) contains some biases.

C) offers no guarantee of being completely valid and true.

D) is characterized by all of the above.

E) is characterized by none of the above.

Answer:  D

93) According to chapter 1 in your textbook, while economic theory offers a biased perspective on social phenomena,

A) it deserves our confidence, but only when it is confined to the monetary or financial sector of society.

B) it is useless to anyone who rejects the free market system.

C) it is nonetheless worth learning.

D) it is superior to all the other social sciences.

Answer:  C

94) According to chapter 1 in your textbook,

A) all economists approach questions with some preconceptions or prejudices.

B) economists (and others) ought to approach all questions with a completely open mind, though they often do not.

C) economists approach questions with more of an open mind than do most other social scientists.

D) most economists approach questions with a completely open mind.

E) most economists derive their conclusions from their political preferences.

Answer:  A

95) Which of the following metaphors best expresses the scientific nature of economic theory?

A) like a wool sweater, economic theory warms the heart of the economist.

B) like a pair of eyeglasses, economic theory allows one to more clearly see and discriminate among the countless facts he or she faces.

C) like a gun, economic theory shoots holes through every other rival theory.

D) like a bank, economic theory is concerned with only one thing: the accumulation of money.

Answer:  B

96) Theory is to data as

A) economics is to the price of iPads.

B) economics is to art.

C) economics is to sociology.

D) accounting is to economics.

Answer:  A

97) It is not uncommon for business professors to make a statement such as the following: "While economists are happy in their never-never land of economic theory, we business professors seriously study facts of the real world." According to your textbook, the statement is

A) generally true.

B) misleading; even business professors rely upon theories to discriminate among and make sense out of the facts they choose to study.

C) confused, because in actuality it is the business professors who are trapped in the never-never land of theory, while the economists seriously study real-world facts without using theories.

D) false, because economics and business are one and the same discipline.

Answer:  B

98) The "Superbowl Effect" mentioned in your textbook is considered a fallacy or a mistake in reasoning because it's wrong to believe

A) one event always causes another to happen if it comes before the other.

B) if you gain, I must lose.

C) the whole must always be equal to the sum of its parts.

D) what is true in one society will always be true in all societies.

E) whatever goes up must come down again.

Answer:  A

99) It is not uncommon for people who travel by bus in Bosnia to keep the windows shut tight, even in warmer weather. Passengers worry about drafts caused by an open window leading to head colds. Apparently folks would rather travel for hours in stuffy busses than take the chance on getting sick. Suppose, however, the correlation between open windows and colds is only a coincidence, and no causal connection between the two variables exists. Then

A) the travelers are displaying mistaken reasoning.

B) the travelers are nevertheless acting in a way they think yields them the greatest net benefit.

C) both A and B are true.

D) none of the above are true.

Answer:  C

100) Suppose a study finds most pot-smokers drank milk as young children. If we reach the conclusion that because most pot smokers "started" on milk, milk drinking "leads" to pot-smoking (at least among certain susceptible groups of milk users), we are most likely

A) engaging in correct analysis.

B) confusing statistical correlation with causation.

C) following the axioms of selfish interests.

D) assuming people really do not know what is in their own interests.

Answer:  B

101) When event B follows event A three times in succession, but people say B following A is "just a coincidence," they usually mean

A) it is highly improbable B will follow A a fourth time.

B) it is more common for A to follow B.

C) B following A is only a subjective opinion.

D) there has not been sufficient observation to connect B positively with A.

E) they aren't aware of any causal theory linking B to A.

Answer:  E

102) According to your text, the so-called "Superbowl Effect"

A) is an example of a mere statistical correlation.

B) is an example of correct cause-and-effect reasoning.

C) is a sound discovery in economic theory.

D) is based upon a false set of facts.

Answer:  A

103) Your authors say economists tend to

A) think outside the box.

B) think outside the bun.

C) think outside the mind.

D) think outside the theory.

E) think outside the facts.

Answer:  A

104) People who reject all theories because they prefer to rely on experience

A) actually rely on unrecognized theories.

B) don't know any theories and are trying to cover up their ignorance.

C) tend to accomplish more but also to make more mistakes.

D) tend to make fewer mistakes but also to accomplish less.

E) value science more than theory.

Answer:  A

105) According to your text, many people don't understand how economic systems work because they

A) are too lazy to study them.

B) don't think economic systems matter greatly.

C) tend to look at them when they are not performing adequately.

D) prefer to believe what they read or hear in the media.

E) have not been trained in the scientific way of thinking.

Answer:  C

106) In most economies, resources are allocated by

A)  a central planning board.

B) a dictator.

C) the combined and decentralized actions of millions of people.

D) the majority's will.

Answer:  C

107) According to your text, when people talk about "the economy", they probably have in mind

A) the stock market.

B) commercial society in general.

C) the marriage market.

D) black markets.

Answer:  B
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